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Problem 12: Line Reversal
Objectives:  The student will write a program that uses the Stack data structure.

Program Description:

This is intended as a simple assignment to give students a breather and illustrates the basic notion of a stack. You are to write a program that simply reverses and prints each line of textual input using a stack data structure, excluding any leading or trailing spaces on the line (that is, you should remove such space). You are not allowed to use Python’s built in methods to reverse the string, but rather you must use the stack class that you define and its methods. Each line can have any length and any content except for a single period, which signals the end of data.
Input:

A series of lines, each of which can be of any length, followed by a terminating line that contains a single period (do not treat this terminating line as a case for printing anything). 

Output:

A series of lines, which correspond to each input line (excluding the terminating line) that are printed backwards and without any leading or trailing space.
Sample Input
Expected Output


Problem 13: Sentence Palindromes
Objectives:  The student will write a program that uses the Stack and the Queue data structure.

Program Description:

This is intended as a simple assignment to give students a breather and illustrates the basic notion of a stack and a queue. You are to write a program that uses both a stack class and a queue class that you define, in order to answer the question as to whether the words on a line read the same forward as backward. The way you are REQUIRED to do this is by taking each word on a given line of input and putting it into the stack and the queue. After you do so for all words on a line, you remove them from the two structures to determine if they read the same forward as backwards. For simplicity there will be no punctuation. A word is any string of characters (letters, numerals, or otherwise) separated by spaces. The amount of space between words does not matter. Case does not matter either, so Hello and hELLo are equivalent.
Input:

Each line of input is a case to be considered, each containing any number of words separated by any number of spaces (no punctuation). Following the last case is a terminating line that contains a single period (do not treat this line as a case). 

Output:

A series of lines with YES or NO (capitalized like this) that correspond to each input case to answer whether the words on the line say the same forward as backward.

Sample Input
Expected Output








Stupid is as stupid does


Stupid is         stupid


It is 2010 is it not


abc cba


abc ABC
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"Hello there, everybody."


       To be continued...
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